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1. Record the steps you use to figure out each of these. Then write the answer.
O @) @)

327 + 46 = 37 + 254 = 565 + 28 =

576 + 85 = 74+ 358 = 486 + 55 =

2. Record your steps and write the answers.
@)

685 + 573 = 347 + 576 = 856 + 478 =

Write two three-digit numbers using 1 to 9. You can use a digit —
90 more than once but the total of the numbers must equal 1000. -



Adding Four-Digit Whole Numbers . NS 3.2

Distances Driven in 1 Year

m 2074 km 6958 km 5471 km 3685 km
m 3852 km 5726 km 4387 km 3475 km
4268 km 5043 km 3708 km 6197 km
m 6873 km 1583 km 40”71 4988 km

1. Figure out how far each person drove in the first half of the yedr«Record the steps you use.

Total km km Total km Total km

2. Figure out the distance driver in the second half of the year. Record the steps you use.

==SU =
Jordan "= Q Q

e%
<

Total km Total km Total km Total km

3. Who drove the greatest distance for the year? Write how you know.
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Adding Dollars and Cents

$26.30

$27.80

$38.60

. OUTCOME
NS 3.4

s 3
a. Trains and Snakes

Total
.

(b. Dogs and Trucks

Total
_

N R
c. Cats and Bikes

1. Record the steps you use to figure out the cost of each purchosel
| d. Snakes and Dogs |

Total

Total
_

h 4

~ -
e. Trucks and Birds f. Birds and Boats

I

Total
\_

Total
_

=/

J

g. Boats and Trains

Total
_

N\
h. Trucks and Cats

Total
_

= J

~

2. \Write the titles of two books that you have not added. Show how you figured out the total cost.

(a. |
Book 1:
Book 2:

\ Total B

17

92

animal books.

—

b.
Book 1:

|

Book 2:

L

Total

Show how you can quickly calculate the total cost of the four



Adding Two Decimal Fractions

Calculate the total mass of these bags at the airport. Record the steps you use.

Total mass

Total mass

2

Total mass

G0 Maths Stage 3A Unit 20.4

b.

Total mass

§ =
7.

Total mass

2
]9.25 39 kg

kg

Total mass

__

C.

OUTCOME
NS 3.4

|

l al mass

o

—

31_48k

9

Total mass

21.3k

Total mass

Place the digits 1 to 6 in the boxes so the answer is close to 30.

[(T11+[1T]-

93
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Total length

Total length
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b,

1

Total length

17

=7

b

Total length Total length

Draw and label a quadrilateral that has a perimeter of 10 metres.
All sides should be different lengths.
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